
[Grade-8, Mathematics paper - A- Model Papers] Page 1 of 4 

SCHOOL BASED ASSESSMENT 2022 
GRADE 8 MATHEMATICS  

PART-A (Objective Type) 
Part-A: 48 Marks, Part-B: 52 Marks, Total: 100 Marks 

  
School Name � �� ��������  
Student Name (�� �����	� 
���  Roll No.  
Section ���  Date �
�� ���  
 

General Instructions for Students:           ��������������	
  
1) Use mask & keep at least 3 ft. distance from each other. �    ������������������������� !�"��#$��%����&�' 
2) Read carefully and attempt all questions.                  ��(�)*�+�"��,�-��./��0��#$ �� 
3) Encircle the correct option of each of the Multiple Choice Questions ( MCQs) as shown in 
the example given below. � 1 23�4�5�67�81 9:�;�<�=�>�?�����-�@A,��BC��D;�EF;����G��H�I�� J�   �� 
Example: 2 × 3  =          
  a) 1  b) 2  c) 3  d)  6 

4) Use black/blue ink for writing. Use of lead pencil is never allowed. �K�L�����M�N���OP"���#$��%���Q���R���%���S�T�1 23H�U�/�V��  �� 
5) If more than one options are encircled in a question, no mark will be given. �� JW������-�X�Y���8;� J���+��/�
��>�Z�I�� J�7�81 9:�;�;Y��O[��\�]V�� J�;�U�^�  �� 
 

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each 

question carries 1.5 marks.  �_�^1.5 �/�J��` a��b�c��d)32 (�_�e�f;�/,�-�@A,��B�������-�1 23  

Total Marks: 48 Part-A (Multiple Choice Questions) Total Time: 1 hour 15 min 

Questions /,�- Rough Work g���h  

Q. No.1. A subset of {0, x} is:                          i�  j Jk H�  {0,x} 
a) {0} b) {{ x }} c) { ( x) } d) ( {x})     

Q. No.2. Power set of { 10 } is:                             H� j Jk�/l��� {10} 

a) {{∅}, { 10 }}  b) {{  }, { 10 }}  
c) {{ }, 10}  d) {{0},{10}} 

Q. No.3. Which of the following is a rational number? �H��m�n[�;o�p� ���+�����qr�s�t؟  

a) 3  b) 16  c)  13 d) 22 
Q. No.4. Square of 0.07  is ______:                     �uvـــــــــــــ����H  0.07 

a) 0.049 b) 0.0049 c) 0.00049 d) 0.000049 
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Q. No.5. 
8
32
=  

a) 
1

2
 b)  

1

2
  c)  

1

6
  d)   

1

4  
Q. No.6. Which of the following is a perfect cube?                                   

�����������������	�
����
��  
a)  25 b)  27  c)  30  d)  35 

Q. No.7. By converting 35 into an equivalent number with base 8, we get: 

35�����
�8���������	��������� ��������
�������  
a) (27)8 b) (34)8 c) (40)8 d) (43)8 

Q. No.8. (101)2  + (10)2  = 
a) (100)2 b) (101)2 c) (110)2 d) (111)2 

Q. No.9. (413)5- (12)5= 
a) (400)5 b) (401)5 c) (411)5 d) (421) 5 

Q. No.10. (��)� + (��)�� (��)�=  

 a) 30 b) 36  c)	38  d) 49 

Q. No.11. Nadeem bought a laptop for Rs. 100000 and sold it for Rs. 90000. 
His loss percentage is:  ��� ��� � !"����#$��������%&���' !() *+���,&%��������� !����� � *-&) *.���,&%�/������0��1  

a) 10% b) 20%  c) 25%  d) 90% 

Q. No.12. Babar died leaving a property of Rs. 640000. Share of his widow in 
the inheritance, according to Islamic rule is: ) 23�2�64000045���67�8�,&%�9���:;�������8��<����� � =>�%&�?@����AB��CD�����E�/�FG�  

a) Rs. 320000 ���  b) Rs. 160000 ���  

c) Rs. 80000 ���  d)  Rs. 40000 ��� 
Q. No.13. The marked price of a chair is Rs.5000. If 20% discount is given 

then its sale price will be: H7�I��J5�K���L��� � *-&) *.�M�8��� 20%  !"���O���P�Q��R�M5000��S�����,&%  
a) Rs. 500 ����  b) Rs.1000 ���  

c) Rs. 3000 ���  d) Rs.4000 ��� 
Q. No.14. If 10 laborers dig 100 cubic meters of earth in 5 hours, how much of 

the earth will 20 laborers dig in 10hours?  �S�����%&�) *T���������U���VW�) � !X��
��K�Y�Z[�\����%&�) *T�����]�^�U�VW�_��� à � *b  
a) 100m3 b) 200m3 c) 300m3 d) 400m3  

Q. No.15. The degree of  polynomial   y4 + 5y2+3 is : ���c%��/y4 + 5y2+3�de%�f 

a) 2  b) 3  c) 4   d) 5 
Q. No.16. A linear equation in two variables is : g�h�&���iP����g�&j�k%�� !"  

a) 4x+7y=12  b) 4x2+7y=12 
c)4x2-7y2=12  d) 4x-7y2=12 
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Q. No.17. (9x2+2y – 3) + (2x2 – 4y+5) = 
a) 11x2 + 6y –2  b) 11x2 - 2y+ 2  
c) 11x2 + 2y –2  d) 11x2 - 6y+2 

 

Q. No.18. (16x2 – 12xy – 4y2) ÷ ( 4x + y) =  
a) 4x – 4y b) 4x + 4y c) 4x + y d) x – 4y 

Q. No.19. Factorization of 7x2 + 11x– 7x– 11 is:  �S��Dw�H� 7x2 + 11x– 7x– 11 
a) (x–1)(7x+11)  b) (x+1)(7x–11)  
c) (x–1)( 7x–11)  d) (x+1)(7x+11) 

Q. No.20. If 
1

12x
x
+ = then the value of x

x
+2

2

1
 is: 

�H�x�S x
x
+2

2

1 �Z 1
12x

x
+ = �Y� 

a) 9  b) 14  c) 142  d)144 
Q. No.21. x2– 225 =   

a) (x – 15)(x – 15)  b) (x – 15)(x + 15) 
c) (x + 15)(x + 15)  d) (15 – x) (x + 15) 

Q. No.22. 
    

+ =
1

x p
x

 

+ =2 2
2

1
x q

x
 

By eliminating “ x”from above equations, we get :  �[�yz�+�{$�|mH�� ��}� �x	 E�D;�<"���+���~Z�"�  
a) p2 –  q2=2  b)  p2 –  q2=-2  

c) p2 – q=2   d) p2+ q2=2 
Q. No.23. ( a + b )2 –144 =  

a) ( a - b – 12)( a - b – 12)  b) (a – b – 12)( a + b – 12)  
c) (a + b – 12)( a + b +12)  d)  (a + b + 12)( a + b +12)  

Q. No.24. Sum of measures of interior anglesof a regular octagonis: � JW�����������~�"�����"������������� ��}H�  
a) 360o  b) 540o  c) 720o  d) 1080o 

Q. No.25. If a cone has slant height 8cm and radius of base 11cm, then its total 
surface area will be: ��\�}�����������S�c��Z�}11cm ��"�c�;�����o� 8cm � JW�Y���"���SD���1 �:  
a) 19πcm2    b) 27πcm2 

       c) 88πcm2    d) 209πcm2 

Q. No.26. In the given parallelogram, the value of “ x”  is: �H�x�S �x	 E�D;���,��D������   
 

a) 7  b) 8 
c) 15 d) 22 
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Q. No.27. In the given parallelogram, the value of “ x”  is: x�S��H  �x	 E�D;���,��D������   
a) 55o   
b) 60o 
c)70o   
d) 180o  

 
Q. No.28. If the radius of a sphere is 13cm then its surface area will be: �\�}��������S�c��Z�}
���c�;�����$� JW��Y� 

a) 26πcm2  b) 52πcm2 c) 169πcm2 d) 676πcm2 
Q. No.29. In the given right angled triangle, the value of “ x”   is: 

  H�x�S� �x	 �D;�E� �9 �� ������������"�  
a) 6 m                        b) 8 m  

 
c) 10m                         d) 16 m 

 

 
Q. No.30. tan 60o =  

a) 
1

2
 b) 

1

3
  c) 2   d) 3

 
Q. No.31. The median of data 1,2,3,7,8,8,11 is:  �H���"��� 1,2,3,7,8,8,11 ;�� 

a) 2  b) 3  c) 7  d) 11 
Q. No.32. The mode of the data 1,2,2,2,4,6,6,1 is:  �H�8;���� 1,2,2,2,4,6,6,1;�� 

 
a) 2  b) 3  c) 4   d) 6 
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